O Bison Gear

Toyota 4Runner 5 generation
Installation Instructions

Part list
Part QTY IMAGE
M6 NUT 8
if LED
12
M8 NUT 32 -
q\\\
M6 x 16 mm BOLT 8 0 j/‘
if LED \
12

1 RR-4R5G



O Bison Gear

M8 x 25 mm BOLT 52 | D

M8 Hex Bolt 8 ‘(((((((((((((((((-@

M8 Flat Washer 8
M8 Spring Washer 8
Spacer 4
Rubber Seal 4
60x30 mm 5

Extruded Aluminum Profile

Aluminium wide bar 3

Connecting plate 2

\\\ ;/,\“‘ / -~ ;/,,—\“
AN aft )

RR-4R5G




O Bison Gear

Wind deflector with
LED cutout LED
option
1
Standard wind Non
deflector LED
1
7
Ledbar brackte if LED 70/
2 ) =)
S/

1. Remove factory rails

2. Remove front rubber moulding from
the rain gutter

3. Clean and degreas surface

4. Asemble the roofrack as shown on
diagram

5. Install rubber weatherstrip on bottom
part of the wind deflector

Place roof rack on the car

Install paint protective transparent
strip on the car roof in place where
winddeflector touches the roof.
Aling all brackets

Bolt roof rack to the roof with 8 M8
bolts

No

©

RR-4R5G



O Bison Gear

10.
1.

12.

13.

Remove small front bracket

Stick front bracket with adhesive
tape to the roof

On front part push roof rack up and
bolt front brackets to the side of the
roof rack (roof rack must push the
bracket down)

Tightend all bolts.

IMPORTANT

After first 30 miles check all bolts and retighten if needed.

RR-4R5G




G

1SON Ledaf

)

s
AN

Large bracket

M8 Hex Bolt
Spring washser
Flat washer

M8x25

Medium bracket

Front support

Conector

RR-4R5G



